

## SEQUENTIAL OPTIMALITY THEOREMS FOR SECOND-ORDER CONE LINEAR FRACTIONAL VECTOR OPTIMIZATION PROBLEMS

Moon Hee Kim

ABSTRACT. In this paper, we consider a second-order cone linear fractional vector optimization problems (FVP), and obtain sequential optimality theorems for (FVP) which hold without any constraint qualification and which are expressed by sequences.

## 1. Preliminary Results and Introduction

Jeyakumar, Lee and Dinh [9] proved optimality theorems for convex optimization problem, which held without any constraint qualification and which were expressed in terms of sequences. We call the theorems as sequential optimality ones. Such optimality theorems have been studied for many kinds of convex optimization problems. In particular, Kim and Lee [11] studied sequential optimality conditions for efficient solutions of semidefinite linear fractional vector optimization problems. Kim, Kim and Lee [12] investigated sequential optimality theorems for weakly efficient solutions for semidefinite linear fractional vector optimization problems. Linear fractional vector optimization and pseudo linear fractional optimization were studied in [3, 4].

In this paper, we consider a second-order cone linear fractional vector optimization problem (FVP) and establish sequential optimality theorems for efficient solutions and properly efficient solutions which hold without any constraint qualification and which are expressed by sequences.

Let X be a Hilbert space with inner product  $\langle \cdot, \cdot \rangle$ . For a subset  $D \subset X$ , the closure of D, induced by the norm topology on X, is denoted by clD.

Let C be a closed convex cone in X. Then the positive dual cone of C is defined by

$$C^* := \{ z \in X : \langle x, z \rangle \ge 0 \ \forall x \in C \}.$$

Received April 10, 2023; Revised April 17, 2023; Accepted August 14, 2023. 2010 Mathematics Subject Classification. 90C25, 90C30, 90C46.

Key words and phrases. second-order cone linear fractional vector optimization problems, properly efficient solutions, efficient solutions, optimality theorems.

This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (NRF-2022R1A2C1003309).

The indicator function  $\delta_A: X \to \mathbb{R} \cup \{+\infty\}$  is defined by

$$\delta_A := \left\{ \begin{array}{ll} 0 & \text{if } x \in A, \\ +\infty & \text{otherwise.} \end{array} \right.$$

Let  $h: X \to \mathbb{R} \cup \{+\infty\}$  be a function. The conjugate function of  $h, h^*: X \to \mathbb{R} \cup \{+\infty\}$ , is defined by

$$h^*(v) := \sup\{\langle v, x \rangle - h(x) : x \in \text{dom}h\}$$

where  $dom h := \{x \in X \mid h(x) < +\infty\}.$ 

The function h is said to be proper if h does not take the value  $-\infty$  and  $dom h \neq \emptyset$ . The epigraph of the function h is defined by

$$epih := \{(x, r) \in X \times \mathbb{R} : h(x) \le r\}.$$

Moreover if  $\liminf_{y\to x} h(y) \ge h(x)$  for all  $x \in X$ , we say that h is lower semicontinuous. A function  $h: X \to \mathbb{R} \cup \{+\infty\}$  is said to be convex if for all  $\lambda \in [0,1]$ ,

$$h(\lambda x + (1 - \lambda)y) \le \lambda h(x) + (1 - \lambda)h(y)$$
 for all  $x, y \in X$ .

**Lemma 1.1.** [1] Let  $h_1, h_2 : X \to \mathbb{R} \cup \{+\infty\}$  be proper lower semicontinuous convex functions. Then  $\operatorname{epi}(h_1 + h_2)^* = \operatorname{cl}(\operatorname{epi} h_1^* + \operatorname{epi} h_2^*)$ . If, in addition, one of  $h_1$  and  $h_2$  is continuous at some  $x_0 \in \operatorname{dom} h_1 \cap \operatorname{dom} h_2$ , then

$$epi(h_1 + h_2)^* = epi \ h_1^* + epi \ h_2^*.$$

**Lemma 1.2.** [13] Let I be an arbitrary index set and let  $h_i: X \to \mathbb{R} \cup \{+\infty\}$  be proper lower semicontinuous convex functions. Suppose that there exists  $x_0 \in X$  such that  $\sup_{i \in I} h_i(x_0) < \infty$ . Then

$$\operatorname{epi}(\sup_{i\in I} h_i)^* = \operatorname{clco}\bigcup_{i\in I} \operatorname{epi}\ h_i^*$$

where  $\sup_{i\in I} h_i: X \to \mathbb{R} \cup \{+\infty\}$  is defined by  $(\sup_{i\in I} h_i)(x) = \sup_{i\in I} h_i(x)$  for all  $x\in X$ .

In this paper, we consider a second-order cone fractional vector optimization problem:

(FVP) Minimize 
$$\left(\frac{c_1^T x + \alpha_1}{d_1^T x + \beta_1}, \cdots, \frac{c_p^T x + \alpha_p}{d_p^T x + \beta_p}\right)$$
  
subject to  $x \in \{x \in \mathbb{R}^n : ||Hx + e|| \le a^T x + b\},$ 

where  $c_i, d_i \in \mathbb{R}^n$ ,  $i = 1, \dots, p$ ,  $\alpha_i, \beta_i$ ,  $i = 1, \dots, p$ , are given real numbers, H is an  $(m-1) \times n$  matrix,  $e \in \mathbb{R}^{m-1}$ ,  $a \in \mathbb{R}^n$ ,  $b \in \mathbb{R}$  and  $||z|| = \sqrt{z^T z}$ ,  $z \in \mathbb{R}^{m-1}$ .

Let  $K = \{(y, t)^T \in \mathbb{R}^{m-1} \times \mathbb{R} \mid ||y|| \leq t\}$ , that is, K is a second-order cone in  $\mathbb{R}^m$ . Then K is self-dual, that is,  $K^* = K$ .

Define  $\triangle := \{x \in \mathbb{R}^n : \|Hx + e\| \leq a^T x + b\}$ . Then  $\triangle = \{x \in \mathbb{R}^n : (Hx + e) \mid x \in \mathbb{R}^n : (Hx + e) \mid x \in \mathbb{R}^n \in \mathbb{R}^n : (Hx + e) \mid x \in \mathbb{R}^n \in \mathbb{R}^n : (Hx + e) \mid x \in \mathbb{R}^n \in \mathbb{R}^n : (Hx + e) \mid x \in \mathbb{R}^n :$ 

**Definition 1.** (1)  $\bar{x} \in \Delta$  is said to be an efficient solution for (FVP) if there exists no other feasible  $x \in \Delta$  such that

$$\left(\frac{c_1^Tx + \alpha_1}{d_1^Tx + \beta_1}, \cdots, \frac{c_p^Tx + \alpha_p}{d_p^Tx + \beta_p}\right) \le \left(\frac{c_1^T\bar{x} + \alpha_1}{d_1^T\bar{x} + \beta_1}, \cdots, \frac{c_p^T\bar{x} + \alpha_p}{d_p^T\bar{x} + \beta_p}\right).$$

(2)  $\bar{x} \in \Delta$  is said to be a properly efficient solution for (FVP) if  $\bar{x}$  is an efficient solution of (FVP) and there exists a constant M > 0 such that for each  $i = 1, \dots, p$ , we have

$$\frac{c_i^T\bar{x}+\alpha_i}{d_i^T\bar{x}+\beta_i}-\frac{c_i^Tx+\alpha_i}{d_i^Tx+\beta_i}\\ \frac{c_j^Tx+\alpha_j}{d_j^Tx+\beta_j}-\frac{c_j^T\bar{x}+\alpha_j}{d_j^T\bar{x}+\beta_j} \leq M$$

 $\text{for some } j \text{ such that } \frac{c_j^Tx+\alpha_j}{d_j^Tx+\beta_j} > \frac{c_j^T\bar{x}+\alpha_j}{d_j^T\bar{x}+\beta_j} \text{ whenever } x \in \triangle \text{ and } \frac{c_i^Tx+\alpha_i}{d_i^Tx+\beta_i} < \frac{c_i^T\bar{x}+\alpha_i}{d_i^T\bar{x}+\beta_i}.$ 

## 2. Sequential Optimality Theorems

Now we give the following necessary optimality theorem for the efficient solution and the properly efficient solution of (FVP):

**Theorem 2.1.** Let  $\lambda \in \mathbb{R}^p$  be such that  $\lambda_i > 0$ ,  $i = 1, \dots, p$ . Let  $\bar{x} \in \triangle$ . Then the following are equivalent:

- (i)  $\bar{x}$  is an efficient solution of (FVP);
- (ii) there exist  $\mu \in K$ ,  $y_i \geq 0, j = 1, \dots, p$ ,

$$(\mathbf{0},0) \in \left\{ \sum_{i=1}^{p} \lambda_{i} (c_{i} - q_{i}(\bar{x})d_{i}, -\alpha_{i} + q_{i}(\bar{x})\beta_{i}) \right\} + \{0\} \times \mathbb{R}^{+}$$

$$+ \operatorname{cl}\left(\bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^{T} \end{array} \right)^{T} \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^{T} \mu \right) \right\}$$

$$+ \bigcup_{y_{j} \geq 0} \left\{ \sum_{j=1}^{p} y_{j} (c_{j} - q_{j}(\bar{x})d_{j}, -\alpha_{j} + q_{j}(\bar{x})\beta_{j}) \right\} + \{0\} \times \mathbb{R}^{+} \right\}.$$

(iii) there exist  $\mu^l \in K$  and  $y_j^l \ge 0, \ j = 1, \dots, p$ , such that

$$\sum_{i=1}^{p} \lambda_i (c_i - q_i(\bar{x})d_i) + \lim_{l \to \infty} \left[ -\left( \begin{array}{c} H \\ a^T \end{array} \right)^T \mu^l + \sum_{j=1}^{p} y_j^l (c_j - q_j(\bar{x})d_j) \right] = \mathbf{0}$$
and 
$$\lim_{l \to \infty} \left( \begin{array}{c} H\bar{x} + e \\ a^T\bar{x} + b \end{array} \right)^T \mu^l = 0.$$

*Proof.*  $((i) \Rightarrow (ii))$  Let  $\bar{x}$  be an efficient solution of (FVP). Then  $\bar{x}$  is an efficient solution of the following vector optimization problem:

Minimize 
$$\left( c_1^T x + \alpha_1 - q_1(\bar{x})(d_1^T x + \beta_1), \cdots, c_p^T x + \alpha_p - q_p(\bar{x})(d_p^T x + \beta_p) \right)$$
subject to 
$$x \in \{x \in \mathbb{R}^n : \|Hx + e\| \leq a^T x + b\}.$$

Then we can check that  $\bar{x}$  is an optimal solution of the problem (P):

Minimize 
$$\sum_{i=1}^{p} \lambda_i \left[ c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T x + \beta_i) \right]$$
subject to 
$$x \in \{ x \in \mathbb{R}^n \mid ||Hx + e|| \le a^T x + b \},$$
$$c_j^T x + \alpha_j - q_j(\bar{x}) (d_j^T x + \beta_j) \le 0, \quad j = 1, \dots, p.$$

Let  $\Delta = \{x \in \mathbb{R}^n : \|Hx + e\| \leq a^T x + b\}$  and  $A = \{x \in \mathbb{R}^n : c_j^T x + \alpha_j - q_j(\bar{x})(d_j^T x + \beta_j) \leq 0, \ j = 1, \dots, p\}$ . Let  $\widetilde{\Delta} = \Delta \cap A$ . Then  $\delta_{\widetilde{\Delta}}(x) = \delta_{\Delta}(x) + \delta_A(x)$ . By Lemma 1.1,

$$\operatorname{epi}\delta_{\widetilde{\triangle}}^* = \operatorname{cl}(\operatorname{epi}\delta_{\triangle}^* + \operatorname{epi}\delta_A^*).$$

Let  $F(x) := \sum_{i=1}^p \lambda_i \left[ c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T x + \beta_i) \right]$ . Since  $\bar{x}$  is an optimal solution of (P),  $F(x) + \delta_{\widetilde{\triangle}}(x) \ge F(\bar{x}) + \delta_{\widetilde{\triangle}}(\bar{x})$  for any  $x \in \triangle$ . Thus  $0 \cdot x - [F(x) + \delta_{\widetilde{\triangle}}(x)] \le 0$  for any  $x \in \triangle$ . Thus  $(F + \delta_{\widetilde{\triangle}})^*(0) \le 0$ ,

$$(\mathbf{0},0) \in epi(F + \delta_{\widetilde{\wedge}})^* = epiF^* + epi\delta_{\widetilde{\wedge}}^*.$$

Using Lemma 1.2 and Theorem 4.1 in [10], we can check that

$$\operatorname{epi} F^* = \left\{ \sum_{i=1}^m \lambda_i (c_i - q_i(\bar{x}) d_i, -\alpha_i + q_i(\bar{x}) \beta_i) \right\} + \{0\} \times \mathbb{R}^+,$$

$$\operatorname{epi} \delta_{\triangle}^* = \operatorname{cl} \left( \bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^T \end{array} \right)^T \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^T \mu \right) \right\} + \{0\} \times \mathbb{R}^+ \right)$$

$$\operatorname{epi} \delta_A^* = \operatorname{cl} \left[ \bigcup_{y_i \ge 0} \left\{ \sum_{j=1}^p y_j (c_j - q_j(\bar{x}) d_j, -\alpha_j + q_i(\bar{x}) \beta_j) \right\} + \{0\} \times \mathbb{R}^+ \right].$$

Thus (ii) holds.

 $((ii) \Rightarrow (iii))$  Suppose that (ii) holds. Then there exist  $\mu^l \in K$ ,  $r \in \mathbb{R}^+$  and  $r^l \in \mathbb{R}^+$  such that

$$\sum_{i=1}^{p} \lambda_i (c_i - q_i(\bar{x})d_i) + \lim_{l \to \infty} \left[ -\left( \begin{array}{c} H \\ a^T \end{array} \right)^T \mu^l + \sum_{j=1}^{p} y_j^l (c_j - q_j(\bar{x})d_j) \right] = \mathbf{0}(1)$$

$$\sum_{i=1}^{p} \lambda_i (-\alpha_i + q_i(\bar{x})\beta_i) + r$$

$$+ \lim_{l \to \infty} \left[ -\left( \begin{array}{c} e \\ b \end{array} \right)^T \mu^l + \sum_{j=1}^{p} y_j^l (-\alpha_j + q_j(\bar{x})\beta_j) + r^l \right] = 0.$$

$$(2)$$

From (2.1),

$$0 = \sum_{i=1}^{p} \lambda_i (c_i - q_i(\bar{x})d_i)\bar{x}$$

$$+ \lim_{l \to \infty} \left[ -\left(\frac{H}{a^T}\right)^T \mu^l + \sum_{j=1}^{p} y_j^l (c_j - q_j(\bar{x})d_j) \right]^T \bar{x}$$

$$(3)$$

From (2.2) and (2.3),

$$0 = -r - \lim_{l \to \infty} \biggl[ \left( \begin{array}{c} H \bar{x} + e \\ a^T \bar{x} + b \end{array} \right)^T \mu^l + r^l \biggr].$$

Since  $r^l \ge 0$  and  $r \ge 0$ , we have

$$r=0, \lim_{l\to\infty} \left( \begin{array}{c} H\bar{x}+e \\ a^T\bar{x}+b \end{array} \right)^T \mu^l=0 \text{ and } \lim_{l\to\infty} r^l=0.$$

Thus (iii) holds.

 $((iii) \Rightarrow (i))$  Suppose that (iii) holds. Then for any  $x \in \triangle$ ,

$$\sum_{i=1}^{p} \lambda_{i} \left[ c_{i}^{T}(x - \bar{x}) - q_{i}(\bar{x}) d_{i}^{T}(x - \bar{x}) \right]$$

$$+ \lim_{l \to \infty} \left[ -\left( \frac{H(x - \bar{x})}{a^{T}(x - \bar{x})} \right)^{T} \mu^{l} + \sum_{j=1}^{p} y_{j}^{l} \left( c_{j}^{T}(x - \bar{x}) - q_{i}(\bar{x}) d_{j}^{T}(x - \bar{x}) \right) \right] = 0.$$

So, for any  $x \in \triangle$ ,

$$\sum_{i=1}^{p} \lambda_{i} (c_{i}^{T} x + \alpha_{i} - q_{i}(\bar{x})(d_{i}^{T} x + \beta_{i})) + \lim_{l \to \infty} \left[ -\left( \begin{array}{c} Hx + e \\ a^{T} x + b \end{array} \right)^{T} \mu^{l} \right.$$

$$+ \sum_{j=1}^{p} y_{j}^{l} (c_{j}^{T} x + \alpha_{j} - q_{j}(\bar{x})(d_{j}^{T} x + \beta_{j})) \left] - \sum_{i=1}^{p} \lambda_{i} (c_{i}^{T} \bar{x} + \alpha_{i} - q_{i}(\bar{x})(d_{i}^{T} \bar{x} + \beta_{i})) \right.$$

$$- \lim_{l \to \infty} \left[ -\left( \begin{array}{c} H\bar{x} + e \\ a^{T} \bar{x} + b \end{array} \right)^{T} \mu^{l} + \sum_{j=1}^{p} y_{j}^{l} (c_{j}^{T} \bar{x} + \alpha_{j} - q_{j}(\bar{x})(d_{j}^{T} \bar{x} + \beta_{j})) \right]$$

$$= 0$$

Since  $c_j^T \bar{x} + \alpha_j - q_j(\bar{x})(d_j^T \bar{x} + \beta_j) + \lim_{l \to \infty} \left[ -\left( \begin{array}{c} H \bar{x} + e \\ a^T \bar{x} + b \end{array} \right)^T \mu^l \right] = 0$  and  $c_j^T x + \alpha_j - q_j(\bar{x})(d_j^T x + \beta_j) + \lim_{l \to \infty} \left[ -\left( \begin{array}{c} H x + e \\ a^T x + b \end{array} \right)^T \mu^l \right] \leq 0$  for any  $x \in \widetilde{\Delta}$ , we have, for any  $x \in \widetilde{\Delta}$ ,

$$\sum_{i=1}^{p} \lambda_i \left[ c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T \bar{x} + \beta_i) \right] \ge \sum_{i=1}^{p} \lambda_i \left[ c_i^T \bar{x} + \alpha_i - q_i(\bar{x}) (d_i^T \bar{x} + \beta_i) \right].$$

Thus  $\bar{x}$  is an optimal solution of the problem (P). Then we can check that  $\bar{x}$  is an efficient solution of (FVP). Hence (i) holds.

We give an assumption for (FVP):

Assumption C:  $\left\{ \frac{d_i^T x + \beta_i}{d_j^T x + \beta_j} \mid i \neq j, \ x \in \Delta \right\}$  is bounded above.

Following Proposition 2.3 in [11], we can obtain the following proposition:

**Proposition 2.2.** The Assumption C is satisfied. Let  $\bar{x} \in \triangle$ . Then the following are equivalent:

- (i)  $\bar{x}$  is a properly efficient solution of (FVP);
- (ii)  $\bar{x}$  is a properly efficient solution of the following linear vector optimization problem:

(LVP)
Minimize 
$$(c_1^T x + \alpha_1 - q_1(\bar{x})(d_1^T x + \beta_1), \dots, c_p^T x + \alpha_p - q_p(\bar{x})(d_p^T x + \beta_p))$$
subject to  $x \in \triangle$ .

*Proof.* Let  $\bar{x} \in \triangle$ . Then the following are equivalent:

- (i)  $\bar{x}$  is a properly efficient solution of (FVP).
- (ii) (1) there does not exist  $x \in \triangle$  such that  $\frac{c_i^T x + \alpha_i}{d_i^T x + \beta_i} \leq \frac{c_i^T \bar{x} + \alpha_i}{d_i^T \bar{x} + \beta_i}$  for all  $i = 1, \dots, p$  and  $\frac{c_j^T x + \alpha_j}{d_j^T x + \beta_j} < \frac{c_j^T \bar{x} + \alpha_j}{d_j^T \bar{x} + \beta_j}$  for some  $j \in \{1, \dots, p\}$ .

  (2) there exists M > 0 such that, for each  $i = 1, \dots, p$  and each  $x \in \triangle$
- (2) there exists M>0 such that, for each  $i=1,\cdots,p$  and each  $x\in \triangle$  satisfying  $\frac{c_i^Tx+\alpha_i}{d_i^Tx+\beta_i}<\frac{c_i^T\bar{x}+\alpha_i}{d_i^T\bar{x}+\beta_i}$ , there exists for each  $j\in\{1,\cdots,p\}$  such that

$$\frac{c_j^T\bar{x}+\alpha_j}{d_j^T\bar{x}+\beta_j}<\frac{c_j^Tx+\alpha_j}{d_j^Tx+\beta_j}$$
 and

$$\frac{c_i^T \bar{x} + \alpha_i}{d_i^T \bar{x} + \beta_i} - \frac{c_i^T x + \alpha_i}{d_i^T x + \beta_i} \\ \frac{c_j^T x + \alpha_j}{d_i^T x + \beta_j} - \frac{c_j^T \bar{x} + \alpha_j}{d_i^T \bar{x} + \beta_j} \le M.$$

(iii) (1) there does not exist  $x \in \Delta$  such that

$$c_i^T x + \alpha_i - q_i(\bar{x})(d_i^T x + \beta_i) \le 0 = c_i^T \bar{x} + \alpha_i - q_i(\bar{x})(d_i^T \bar{x} + \beta_i)$$

for all  $i = 1, \dots, p$  and  $c_j^T x + \alpha_j - q_j(\bar{x})(d_j^T x + \beta_j) < 0 = c_j^T \bar{x} + \alpha_j - q_j(\bar{x})(d_j^T \bar{x} + \beta_j)$ , for some  $j \in \{1, \dots, p\}$ .

(2) there exists M>0 such that for each i and each  $x\in \triangle$  satisfying  $c_ix+\alpha_i-q_i(\bar{x})(d_i^Tx+\beta_i)< c_i^T\bar{x}+\alpha_i-q_i(\bar{x})(d_i^T\bar{x}+\beta_i)$ , there exists for each  $j\in\{1,\cdots,p\}$  such that  $c_j^T\bar{x}+\alpha_j-q_j(\bar{x})(d_j^T\bar{x}+\beta_j)< c_j^Tx+\alpha_j-q_j(\bar{x})(d_j^Tx+\beta_j)$  and

$$\frac{(c_i^T \bar{x} + \alpha_i - q_i(\bar{x})(d_i^T \bar{x} + \beta_i)) - (c_i^T x + \alpha_i - q_i(\bar{x})(d_i^T x + \beta_i))}{(c_j^T x + \alpha_j - q_j(\bar{x})(d_j^T x + \beta_j)) - (c_j^T \bar{x} + \alpha_j - q_j(\bar{x})(d_j^T \bar{x} + \beta_j))} \\ \leq \frac{d_i^T x + \beta_i}{d_j^T x + \beta_j} M.$$

Thus the result holds.

Following the proof of Theorem 2 in [7], and using Proposition 2.2, we can obtain the following proposition:

**Proposition 2.3.** The Assumption C is satisfied. Let  $\bar{x} \in \triangle$ . Then the following are equivalent:

- (i)  $\bar{x}$  is a properly efficient solution of (FVP);
- (ii) there exist  $\lambda_i > 0$ ,  $i = 1, \dots, p$  such that  $\bar{x}$  is an optimal solution of the following linear optimization problem:

(LP) Minimize 
$$\sum_{i=1}^{p} \lambda_i \left( c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T x + \beta_i) \right)$$
subject to  $x \in \triangle$ .

Using Proposition 2.3 and following the proof of Theorem 2.1, we can obtain the following optimality theorem for properly efficient solution of (FVP):

**Theorem 2.4.** The Assumption C is satisfied. Let  $\bar{x} \in \triangle$ . Then the following are equivalent:

- (i)  $\bar{x}$  is a properly efficient solution of (FVP);
- (ii) there exist  $\lambda_i > 0, i = 1, \dots, p, (\sum_{i=1}^p \lambda_i = 1), \mu \in K$  such that

$$(\mathbf{0},0) \in \left\{ \sum_{i=1}^{p} \lambda_{i} (c_{i} - q_{i}(\bar{x})d_{i}, -\alpha_{i} + q_{i}(\bar{x})\beta_{i}) \right\} + \{0\} \times \mathbb{R}^{+}$$

$$+ \operatorname{cl}\left(\bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^{T} \end{array} \right)^{T} \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^{T} \mu \right) \right\} + \{0\} \times \mathbb{R}^{+} \right).$$

(iii) there exist 
$$\lambda_i > 0, i = 1, \dots, p, (\sum_{i=1}^p \lambda_i = 1), \ \mu^l \in K \text{ such that}$$

$$\sum_{i=1}^p \lambda_i (c_i - q_i(\bar{x})d_i) + \lim_{l \to \infty} \left[ -\left(\frac{H}{a^T}\right)^T \mu^l \right] = \mathbf{0}$$
and  $\lim_{l \to \infty} \left(\frac{H\bar{x} + e}{a^T\bar{x} + b}\right)^T \mu^l = 0.$ 

The following theorem, which is second-order cone programming version of the Isermann's result [6, 8, 11, 14], gives a sufficient condition that an efficient solution of (FVP) can be properly efficient solution of (FVP).

**Theorem 2.5.** The Assumption C is satisfied. Let  $\bar{x} \in \triangle$ . Assume that

$$\bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^T \end{array} \right)^T \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^T \mu \right) \right\} \\
+ \bigcup_{q_j \ge 0} \left\{ \sum_{j=1}^p y_j (c_j - q_j(\bar{x}) d_j, -\alpha_j + q_j(\bar{x}) \beta_j) \right\} + \{0\} \times \mathbb{R}_+$$

is closed. If  $\bar{x}$  is an efficient solution of (FVP), then  $\bar{x}$  is a properly efficient solution of (FVP).

*Proof.* Let  $\lambda_i > 0, i = 1, \dots, p, (\sum_{i=1}^p \lambda_i = 1)$ . Let  $\bar{x}$  is an efficient solution of (FVP). By Theorem 2.1,

$$(\mathbf{0},0) \in \left\{ \sum_{i=1}^{p} \lambda_{i} (c_{i} - q_{i}(\bar{x})d_{i}, -\alpha_{i} + q_{i}(\bar{x})\beta_{i}) \right\} + \left\{ 0 \right\} \times \mathbb{R}^{+}$$

$$+ \operatorname{cl} \left[ \bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^{T} \end{array} \right)^{T} \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^{T} \mu \right) \right\}$$

$$+ \bigcup_{y_{j} \geq 0} \left\{ \sum_{j=1}^{p} y_{j} (c_{j} - q_{j}(\bar{x})d_{j}, -\alpha_{j} + q_{j}(\bar{x})\beta_{j}) \right\} + \left\{ 0 \right\} \times \mathbb{R}_{+} \right].$$

By assumption,

$$(\mathbf{0},0) \in \sum_{i=1}^{p} \lambda_{i}(c_{i} - q_{i}(\bar{x})d_{i}, -\alpha_{i} + q_{i}(\bar{x})\beta_{i})$$

$$+ \bigcup_{\mu \in K} \left\{ \left( - \left( \begin{array}{c} H \\ a^{T} \end{array} \right)^{T} \mu, \left( \begin{array}{c} e \\ b \end{array} \right)^{T} \mu \right) \right\}$$

$$+ \bigcup_{y_{j} \geq 0} \left\{ \sum_{j=1}^{p} y_{j}(c_{j} - q_{j}(\bar{x})d_{j}, -\alpha_{j} + q_{j}(\bar{x})\beta_{j}) \right\} + \left\{ 0 \right\} \times \mathbb{R}_{+}.$$

So, there exist  $\bar{\mu} \in K$  and  $\bar{y}_j \geq 0$ ,  $j = 1, \dots, p$ , and  $\bar{r} \geq 0$  such that

$$\mathbf{0} = \sum_{i=1}^{p} (\lambda_i + \bar{y}_i)(c_i - q_i(\bar{x})d_i) - \begin{pmatrix} H \\ a^T \end{pmatrix}^T \bar{\mu}$$
(4)

and 
$$0 = \sum_{i=1}^{m} (\lambda_i + \bar{y}_i)(-\alpha_i + q_i(\bar{x})\beta_i) + \begin{pmatrix} e \\ b \end{pmatrix}^T \bar{\mu} + \bar{r}.$$
 (5)

From (2.4), for any  $x \in \triangle$ ,

$$0 = \sum_{i=1}^{p} (\lambda_i + \bar{y}_i)(c_i - q_i(\bar{x})d_i)^T x - \begin{pmatrix} Hx \\ a^T x \end{pmatrix}^T \bar{\mu}.$$
 (6)

From (2.5) and (2.6),

$$\bar{r} = \sum_{i=1}^{p} (\lambda_i + \bar{y}_i) (c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T x + \beta_i)) - \begin{pmatrix} Hx + e \\ a^T x + b \end{pmatrix}^T \bar{\mu}$$

$$\leq \sum_{i=1}^{p} (\lambda_i + \bar{y}_i) (c_i^T x + \alpha_i - q_i(\bar{x}) (d_i^T x + \beta_i)).$$

Since  $\bar{r} \geq 0$ , for any  $x \in \triangle$ ,

$$\sum_{i=1}^{p} (\lambda_{i} + \bar{y}_{i})(c_{i}^{T}x + \alpha_{i} - q_{i}(\bar{x})(d_{i}^{T}x + \beta_{i}))$$

$$\geq 0 = \sum_{i=1}^{p} (\lambda_{i} + \bar{y}_{i})(c_{i}^{T}\bar{x} + \alpha_{i} - q_{i}(\bar{x})(d_{i}^{T}\bar{x} + \beta_{i})).$$

Since  $\lambda_i + \bar{y}_i > 0$ , by Proposition 2.3,  $\bar{x}$  is a properly efficient solution of (FVP).

## References

- R.S. Burachik and V. Jeyakumar, Dual condition for the convex subdifferential sum formula with applications, J. Con. Analy., 12(2005), 279–290.
- [2] E.V. Choo, Proper efficiency and linear fractional vector optimization, Oper. Res. 32(1984), 216–220.
- [3] K.L. Chew and E.V. Choo, Pseudolinearity and efficiency, Math. Programming 28(1984), 226–239.
- [4] B. D. Craven, "Fractional Programming", Heldermann Verlag, Berlin, 1988.
- [5] B. D. Craven and B. Mond, The dual of a fractional linear program, J. Math. Anal. Appl., 42 (1973), 507–512.
- [6] M. Ehrgott, Multicriteria Optimization, Lecture Notes in Economics and Mathematical Systems 491, Springer-Verlag Berlin Heidelberg, 2000.
- [7] A.M. Geoffrion, Proper efficiency and the theory of vector optimization, Journal of Mathematical Analysis and Applications, 22(1968), 618–630.
- [8] H. Isermann, Proper efficiency and the linear vector maximum problem, Oper. Res., 22(1974), no. 1, 189-191.

- [9] J. Jeyakumar, G. M. Lee and N. Dinh, New sequential Lagrange multiplier conditions characterizing optimality without constraint qualification for convex programs, SIAM J. Optim., 14 (2003), 534–547.
- [10] V. Jeyakumar, S. Kum and G. M. Lee, Necessary and sufficient conditions for Farkas' Lemma for cone systems and second-order cone programming duality, J. Convex Anal. 15(2008), 63–71.
- [11] M.H. Kim and G.M. Lee, On efficient solutions for semidefinite linear fractional vector optimization problems, to appear in Minimax Theory and its Applications.
- [12] M. H. Kim, G. S. Kim and G. M. Lee, On weakly efficient solutions for semidefinite linear fractional vector optimization problems, to appear in J. Nonlinear and Convex Anal..
- [13] G.Y. Li, V. Jeyakumar and G.M. Lee, Robust conjugate duality for convex optimization under uncertainty with application to data classification, Nonlinear Anal., 74(2011), 2327–2341.
- [14] Y. Sawaragi, H. Nakayama and T. Tanino, "Theory of Multiobjective Optimization", Academic Press Inc., 1985.

Moon Hee Kim

College of General Education, Tongmyong University, Busan 48520, Korea  $Email\ address\colon {\tt mooni@tu.ac.kr}$